The Grant County Fiscal Court met in Special Session on Friday, September 18, 2020 at 4:30 P.M. at the Grant County Courthouse in Williamstown, Kentucky. Those in attendance were The Honorable Judge/Executive Chuck Dills presiding, Magistrate Jacqalynn Riley, and Magistrate Shawna Coldiron, and Magistrate Roger Humphrey. Pat Conrad, Grant County Fiscal Court clerk and Steve Tatum, the Grant County Road Supervisor were also present.

There were no guests were in attendance.

CALL TO ORDER:

Judge/Executive Chuck Dills called the meeting to order and directed the clerk to call the roll, whereupon all members of the Fiscal Court were present.

Judge/Executive Chuck Dills presented the bids for the repaving of Cash Drive and South Ridge Road that the road committee had opened in a bid committee meeting at 4:00 P.M.

The following bids were submitted:

Eaton Asphalt:

South Ridge Road 240 Tons @ \$139.65 per ton \$33,516.00

Cash Drive 690 Tons @ \$112.55 per ton \$77,659.50

Bluegrass Paying:

South Ridge Road 221 Tons @ \$103.50 per Ton \$22,873.50

Cash Drive 450 Tons @ \$98.50 per Ton \$44,325.00

Riegler Blacktop, Inc.

South Ridge Road 180 Tons @ \$72.95 per Ton \$13,131.00

Cash Drive 400 Tons @ \$72.95 per Ton \$29,180.00

A motion was made by Magistrate Riley, and was seconded by Magistrate Humphrey to approve the bid submitted by Riegler Blacktop, Inc, for the repaving of Cash Drive, and South Ridge Road.

Judge/Executive Chuck Dills called for discussion and there being none all members present voted in the affirmative.

Judge/Executive Chuck Dills reminded the court that the next meeting of this body will be held on Friday, October 6, 2020. The meeting will be held at the Grant County Courthouse at 6:30 P.M.

Motion to adjourn was made by Magistrate Humphrey, and seconded by Magistrate Coldiron. All members present voted to adjourn.

Grant County Judge/Executive

Chuck Dills

Bid Committee Meeting Grant County Fiscal Court Friday, September 18, 2020

The Bid Committee met on Friday, September 18, 2020, at 4:01 PM. Those in attendance were: County Judge Executive Chuck Dills, Committee Member Magistrate Shawna Coldiron, and Committee Member GC Road Supervisor Steve Tatum. Also in attendance were Magistrate Roger Humphrey and Magistrate Jacqalynn Riley. County Judge Executive Chuck Dills chaired the meeting.

The purpose of this meeting was to open bids for the resurfacing of South Ridge Rd at 1,110 FT and Cash Drive at 2,700 FT. The following bids were submitted:

BIDDER	TIME STAMPED	TOTAL TONS	COST/ TON	TOTAL COST
Easton Asphalt-South Ridge	09/18/20 at 11:25 AM	240	\$139.65	\$33,516.00
Easton Asphalt-Cash Dr	09/18/20 at 11:25 AM	690	\$112.55	\$77,659.50
			Total	\$111,175.50
Riegler Blacktop-South Ridge	09/18/20 at 02:15 PM	180	\$72.95	\$13,131.00
Riegler Blacktop-Cash Dr	09/18/20 at 02:15 PM	400	\$72.95	\$29,180.00
			Total	\$42,311.00
Bluegrass Paving-South Ridge	09/18/20 at 11:50 AM	221	\$103.50	\$22,873.50
Bluegrass Paving-Cash Dr	09/18/20 at 11:50 AM	450	\$98.50	\$44,325.00
		-	Total	\$67,198.50

Bids will be presented for letting to the full Fiscal Court at the next Regular Fiscal Court Meeting of Friday, September 18, 2020, at 4:30 PM.

There being no further business, the meeting was adjourned by Chair and County Judge Executive Chuck Dills at 4:12 PM

Bid Price for Performing this job on South Ridge Road according to the Specifications: Estimated Length **Estimated Tons** Price Per Ton Road 139.65 1,110 Ft. 240 South Ridge Road Bid Price for Performing this job on Cash Drive according to the Specifications: Price Per Ton **Estimated Length Estimated Tons** Road 2,700 Ft. Cash Drive 690 Bid Price for Performing this job on according to the Specifications: **Estimated Length Estimated Tons** Price Per Ton Road Bid Price for Performing this job on according to the Specifications: Price Per Ton **Estimated Length Estimated Tons** Road

Names: ESTON ASPHALT
Street: 136 E TROGTOWN ROA
City: WALLOW

State:

Zip Code: 41.094

Signature/

The Grant County Fiscal Court reserves the right to reject any and all bids and waive informalities and make awards in a manner deemed to be in the best interests of Grant County.

id tince for religion	ning this job on South Ridg Estimated Length	Estimated Tons	Price Per Ton
_ r	Estimated rength	rafilitiaren Lana	1,1100 1.01 1.011
Road	00 - 972 2 22	40.	*103.50 = 22,873.50
South Ridge Road	1,110 Ft.	221	103,30 = (1,012,30
			But the second
d Price for Perfort	ning this job on Cash Drive	according to the Spec	ifications:
	Estimated Length	Estimated Tons	Price Per Ton
Road			
Cash Drive	2,700 Ft.	450	198.50 = 44,325.00
	6		+
			TOTAL = #67, 158,5
id Drice for Perfor	ming this job on according	to the Specifications:	•
IO PREEMONT CHOS	Estimated Length		Price Per Ton
D d	Tatilliaica Feligia		
Road			
e de la companya de	• • • • •	to the Cassifications	and the second of the second
id Price for Perfor	ming this job on according	to the opecing actoris:	Price Per Ton
	Estimated Length	Estimated Tons	tife ter ron
Road			
			<u> </u>
. • •	in the second se	and the second second	
	the state of the s		
		and the second	
Jamps BluEGL	ASS PAVING, INC.	en de la companya de La companya de la co	
	. 更 東京に アーボック Rhiol. 775. かしした <u>ました まつ ニー (を) 15 k カー</u>		

Names: . Street:	9150	8600 170 MC			
City: State:	FLORE	NE	Zin Code:	41042	
orare.		- 1			-
Signatur		is 5 hr	Vis		

The Grant County Fiscal Court reserves the right to reject any and all bids and waive informalities and make awards in a manner deemed to be in the best interests of Grant County.

Bid Price for Performing this job on South Ridge Road according to the Specifications:

	Estimated Length	Estimated Tons	Price Per Ton
Road			
South Ridge Road	1,110 Ft.	180	72.95

Bid Price for Performing this job on Cash Drive according to the Specifications:

	Estimated Length	Estimated Tons	Price Per Ton
Road			•
Cash Drive	2,700 Ft.	400	72,95

Bid Price for Performing this job on according to the Specifications:

	Estimated Length	Estimated Tons	Price Per Ton
Road			

Bid Price for Performing this job on according to the Specifications:

	Estimated Length	Estimated Tons	Price Per Ton
Road			

Names: Kieder Blackten inc
Street: 165 were Ro

The Grant County Fiscal Court reserves the right to reject any and all bids and waive informalities and make awards in a manner deemed to be in the best interests of Grant County.